K. K. University

Berauti, Nepura, Bihar Sharif, Nalanda, Pin - 803115, Bihar



KKU Fee Structure and Reservation Policy Academic Year - 2025-26







SCHOOL OF AGRICULTURE SCIENCES

B.SC (HONS.) AGRICULTURE (4 YEARS SEMESTER PROGRAMME)		
Foodstile	Category	
Fee details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 8 semesters = 16,000	2,000 x 8 semesters = 16,000
Tuition fee (per semester)	30,000 x 8 semesters = 2,40,000	* 1/5th = 0
		* 2/5th = 15,000 x 8 semesters = 1,20,000
		*2/5th = 22500 x 8 semesters = 1,80,000
	2,62,000	1/5th = 22,000
tal fee (excluding hostel & mess charges)		2/5th = 1,42,000
		2/5th = 2,02,000

Hostel & mess charges (per semester)	27,000 x 8 semesters = 2,16,000	27,000 x 8 semesters = 2,16,000
Hostel caution money (one time & refundable)	5,000	5,000
		1/5th = 2,43,000
Total fee (including hostel & mess charges)	4,83,000	2/5th = 3,63,000
		2/5th = 4,23,000

Total Intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	90 students	1/5th - 6 students	Total intake
		2/5th - 12 students	
		2/5th - 12 students	
Total	90	30	120

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

* Note

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.

Pro Vice Chancellor KK University Berauti, Nepura, Bihar Sharif Nalanda - 803115 (Bihar)



Vice Chancellor
K.K. UNIVERSITY
Biharsharif, Nalanda
Bihar

SCHOOL OF AGRICULTURE SCIENCES

M.SC AGRICULTURE (2 YEARS SEMESTER PROGRAMME)			
e d d.		Category	
Fee details	General	ST/ SC/ BC/EBC/ EWS	
Admission fee (one time)	6,000	6,000	
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000	
Tuition fee (per semester)	30,000x 4 semesters = 1,20,000	* 1/5th = 0	
		* 2/5th = 15,000 x 4 semesters = 60,000	
		*2/5th = 22,500 x 4 semesters = 90,000	
		1/5th = 14,000	
otal fee (excluding hostel & mess charges)	1,34,000	2/5th = 74,000	
chargesy		2/5th = 1,04,000	

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
	2,47,000	1/5th = 1,27,000
Total fee (including hostel & mess charges)		2/5th = 1,87,000
		2/5th = 2,17,000

	Total intake		
	General category	ST/ SC/ BC/EBC/ EWS	
Number of students	22 students	1/5th - 2 students	Total intake
		2/5th - 3 students	
		2/5th - 3 students	
Total	22	8	30

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF EDUCATION TRAINING & RESEARCH

B.ED (2 YEARS SEMESTER PROGRAMME)		
For descite	Category	
Fee details	General	ST/ SC/ BC/EBC/ EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
	50,000 x 4 semesters = 2,00,000	* 1/5th = 0
		* 2/5th = 25,000 x 4 semesters =
Tuition fee (per semester)		1,00,000
		* 2/5th = 37,500 x 4 semesters =
		1,50,000
Lesson plan (one time)	3,000	3,000
Total fee (excluding hostel & mess charges)		1/5th= 17,000
	2,17,000	2/5th= 1,17,000
		2/5th= 1,67,000

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
	3,30,000	1/5th = 1,30,000
Total fee (including hostel & mess charges)		2/5th = 2,30,000
charges,		2/5th = 2,80,000

Total intake			
	General category	ST/ SC/ BC/EBC/ EWS	
Number of students	150 students	1/5th- 10 students	Total intake
		2/5th- 20 students	
		2/5th- 20 students	
Total	150	50	200

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF EDUCATION TRAINING & RESEARCH

D.EL.ED (2 YEARS ANNUAL PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 2 years = 4,000	2,000 x 2 years = 4,000
	70,000 x 2 years = 1,40,000	* 1/5th = 0
Tuition fee (per semester)		*2/5th = 35,000 x 2 years = 70,000
		*2/5th = 52500 x 2 years = 1,05,000
Lesson plan (one time)	3,000	3,000
	1,53,000	1/5th = 13,000
Total fee (excluding hostel & mess fee)		2/5th = 83,000
		2/5th = 1,18,000

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	2,66,000	1/5th = 1,26,000
		2/5th = 1,96,000
		2/5th = 2,31,000

Total Intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	150 stundents	1/5th- 10 students	Total intake
		2/5th- 20 students	
		2/5th- 20 students	
Total	150	50	200

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF ARTS & CULTURE

M.A (2 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
Tuition fee (per semester)	6750 x 4 semesters = 27,000	* 1/5th = 0
		* 2/5th = 3,375 x 4 semesters = 13,500
		* 2/5th = 5063 x 4 semesters = 20,252
		1/5th = 14,000
Total fee (excluding hostel & mess charges)	41,000	2/5th = 27,500
		2/5th = 34,252

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
		1/5th = 1,27,000
Total fee (including hostel & mess charges)	1,54,000	2/5th = 1,40,500
		2/5th = 1,47,252

Total Intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	90 students	1/5th- 6 student	Total intake
		2/5th- 12 students	
		2/5th- 12 students	
Total	90	30	120

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

* Note

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF APPLIED SCIENCES

M.SC (2 YEARS SEMESTER PROGRAMME)		
e J. v. H.	Category	
Fee details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
Tuition fee (per semester)	7500 x 4 semesters = 30,000	* 1/5th = 0
		* 2/5th = 3,750 x 4 semesters = 15,000
		* 2/5th = 5625 x 4 semesters = 22,500
		1/5th = 14,000
Total fee (excluding hostel & mess charges)	44,000	2/5th = 29,000
charges)		2/5th = 36,500

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	1,57,000	1/5th = 1,27,000
		2/5th = 1,42,000
		2/5th = 1,49,500

Total Intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	289 students	1/5th- 19 student	Total intake
		2/5th- 38 students	
		2/5th- 39 students	
Total	289	96	385

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF COMMERCE & MANAGEMENT POST GRADUATE DIPLOMA IN COMMERCE (1 YEAR SEMESTER PROGRAMME) Category Fee details ST/SC/BC/EBC/EWS General 6,000 Admission fee (one time) 6,000 Exam fee (per semester) $2,000 \times 2 \text{ semesters} = 4,000$ $2,000 \times 2 \text{ semesters} = 4,000$ * 1/5th = 0 Tuition fee (per semester) 6750 x 2 semesters = 13,500 * 2/5th = 3,375 x 2 semesters = 6,750 * 2/5th = 5,063 x 2 semesters = 10,126 1/5th = 10,000 2/5th = 16,750Total fee (excluding hostel & mess charges) 23,500 2/5th = 20,126 $27,000 \times 2 \text{ semester} = 54,000$ Hostel & mess charges (per semester) 27,000 x 2 semesters = 54,000 Hostel caution money (one time & 5,000 5,000 refundable) 1/5th = 69,000 Total fee (including hostel & mess charges) 82,500 2/5th = 75,750 2/5th = 79,126M.COM (2 YEARS SEMESTER PROGRAMME) Category Fee details General ST/ SC/BC/EBC/EWS 6,000 6,000 Admission fee (one time) 2,000 x 4 semesters = 8,000 2,000 x 4 semesters = 8,000 Exam fee (per semester) *1/5th = 0* 2/5th = 3,375 x 4 semesters = 13,500 Tuition fee (per semester) 6750 x 4 semesters = 27,000 * 2/5th = 5063 x 4 semesters = 20,252 1/5th = 14,000 2/5th = 27,500Total fee (excluding hostel & mess charges) 41,000 2/5th = 34,252 Hostel & mess charges (per semester) 27,000 x 4 semesters = 1,08,000 27,000 x 4 semesters = 1,08,000 Hostel caution money (one time & 5,000 5,000 refundable) 1/5th = 1,27,000 Total fee (including hostel & mess charges) 1,54,000 2/5th = 1,40,500 2/5th = 1,47,252 **Total intake General category** ST/ SC/BC/EBC/EWS Total 1/5th-1 student **Number of students** intake 15 students 2/5th- 2 students 2/5th-2 students **Total** 15 20 Metrics of seat reservation Reservation percentile **Categories** 20% SC 2% ST **EBC** 25% 18% BC **EWS** 10%

- * Note-
- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF APPLIED SCIENCES

B.SC (3 YEARS SEMESTER PROGRAMME)			
Fee details		Category	
ree details	General	ST/ SC/ BC/EBC/ EWS	Women
Admission fee (one time)	2,500	2,500	2,500
Exam fee (per semester)	500 x 6 semesters = 3,000	500 x 6 semesters = 3,000	500 x 6 semesters = 3,000
		* 1/5th = 0	0
Tuition fee (per semester)	2000 x 6 semesters = 12,000	* 2/5th = 1,000 x 6 semesters = 6,000	0
		* 2/5th = 1,500 x 6 semesters = 9,000	0
T .1.16611		1/5th = 5,500	5,500
Total fee (excluding	17,500	2/5th = 11,500	5,500
hostel & mess charges)		2/5th = 14,500	5,500
	T		-
Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000
Hostel caution money (one time & refundable)	5,000	5,000	5,000
		1/5th = 1,72,500	1,72,500
Total fee (including	1,84,500	2/5th = 1,78,500	1,72,500
hostel & mess charges)		2/5th = 1,81,500	1,72,500
	R SC HONS (4 VEARS	SEMESTER PROGRAMME)	
		Category	
Fee details	General	ST/ SC/ BC/EBC/ EWS	Women
Admission fee (one time)	2,500	2,500	2,500
Exam fee (per semester)	500 x 8 semesters = 4,000	500 x 8 semesters = 4,000	500 x 8 semesters = 4,000
		* 1/5th = 0	0
Tuition fee (per semester)	2000 x 8 semesters = 16,000	* 2/5th = 1,000 x 8 semesters = 8,000	0
		* 2/5th = 1,500 x 8 semesters = 12,000	0
Total for Laurehading		1/5th = 6,500	6,500
Total fee (excluding hostel & mess charges)	22,500	2/5th = 14,500	6,500
moster & mess charges)		2/5th = 18,500	6,500
	I		
Hostel & mess charges	27,000 x 8 semesters =	27,000 0	27,000 x 8
(per semester)	2,16,000	27,000 x 8 semesters = 2,16,000	semesters =
Hostel caution money	5,000	5,000	2,16,000 5,000
(one time & refundable)	3,000	·	·
Total fee (including		1/5th = 2,27,500	2,27,500
hostel & mess charges)	2,43,500	2/5th = 2,35,500	2,27,500
		2/5th = 2,39,500	2,27,500







Total intake				
Number of students	General category	ST/ SC/ BC/EBC/ EWS	Women	Total
	22 students	1/5th- 2 students	·	intake
Number of students		2/5th- 3 students		ппаке
		2/5th- 3 students		
Total	22	8		30

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF COMMERCE & MANAGEMENT

	B.COM (3 YEARS SEI	MESTER PROGRAMME)	
Par datalla	Category		
Fee details	General	ST/ SC/ BC/EBC/ EWS	Women
Admission fee (one time)	2,500	2,500	2,500
Exam fee (per semester)	500 x 6 semesters = 3,000	500 x 6 semesters = 3,000	500 x 6 semesters = 3,000
Tuition fee (per semester)	2000 x 6 semesters = 12,000	* 1/5th = 0	0
		* 2/5th = 1,000 x 6 semesters = 6,000	0
		* 2/5th = 1,500 x 6 semesters = 9,000	0
	17,500	1/5th = 5,500	5,500
Total fee (excluding hostel		2/5th = 11,500	5,500
& mess charges)		2/5th = 14,500	5,500
			•
Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000
Hastal soution many / and			1,02,000

	Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000	semesters = 1,62,000
	Hostel caution money (one time & refundable)	5,000	5,000	5,000
Ī			1/5th = 1,72,500	1,72,500
	Total fee (including hostel	1,84,500	2/5th = 1,78,500	1,72,500
	& mess charges)		2/5th = 1,81,500	1,72,500
•				

For details	Category		
Fee details	General	ST/ SC/ BC/EBC/ EWS	Women
Admission fee (one time)	2,500	2,500	2,500
Exam fee (per semester)	500 x 8 semesters = 4,000	500 x 8 semesters = 4,000	500 x 8 semesters = 4,000
Tuition fee (per semester)	2000 x 8 semesters = 16,000	* 1/5th = 0	0
		* 2/5th = 1,000 x 8 semesters = 8,000	0
		* 2/5th = 1,500 x 8 semesters = 12,000	0
		1/5th = 6,500	6,500
Total fee (excluding hostel	22,500	2/5th = 14,500	6,500
& mess charges)		2/5th = 18,500	6,500

Hostel & mess charges (per semester)	27,000 x 8 semesters = 2,16,000	27,000 x 8 semesters = 2,16,000	27,000 x 8 semesters = 2,16,000
Hostel caution money (one time & refundable)	5,000	5,000	5,000
Total fee (including hostel & mess charges)		1/5th = 2,27,500	2,27,500
	2,43,500	2/5th = 2,35,500	2,27,500
		2/5th = 2,39,500	2,27,500





Total intake				
	General category	ST/ SC/ BC/EBC/ EWS	Women	Total
Number of students	22 students	1/5th- 2 students		Total intake
Number of students		2/5th- 3 students		iiitake
		2/5th- 3 students		
Total	22	8		30

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF ARTS & CULTURE

	B.A. (3 YEARS SEMESTER PROGRAMME)			
For detaile	Category			
Fee details	General	ST/ SC/ BC/EBC/ EWS	Women	
Admission fee (one time)	2,500	2,500	2,500	
Exam fee (per semester)	500 x 6 semesters = 3,000	500 x 6 semesters = 3,000	500 x 6 semesters = 3,000	
6 /	2000 x 6 semesters = 12,000	* 1/5th = 0	0	
Tuition fee (per semester)		* 2/5th = 1,000 x 6 semesters = 6,000	0	
semester)		* 2/5th = 1,500 x 6 semesters = 9,000	0	
	17,500	1/5th = 5,500	5,500	
Total fee (excluding hostel & mess charges)		2/5th = 11,500	5,500	
		2/5th = 14,500	5,500	

Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000
Hostel caution money (one time & refundable)	5,000	5,000	5,000
		1/5th = 1,72,500	1,72,500
Total fee (including hostel & mess charges)	1,84,500	2/5th = 1,78,500	1,72,500
		2/5th = 1,81,500	1,72,500

B.A. HONS. (4 YEARS SEMESTER PROGRAMME)			
Fee details	Category		
ree details	General	ST/ SC/ BC/EBC/ EWS	Women
Admission fee (one time)	2,500	2,500	2,500
Exam fee (per semester)	500 x 8 semesters = 4,000	500 x 8 semesters = 4,000	500 x 8 semesters = 4,000
	2000 x 8 semesters = 16,000	* 1/5th = 0	0
Tuition fee (per		* 2/5th = 1,000 x 8 semesters = 8,000	0
semester)		* 2/5th = 1,500 x 8 semesters = 12,000	0
		1/5th = 6,500	6,500
Total fee (excluding	22,500	2/5th = 14,500	6,500
hostel & mess charges)		2/5th = 18,500	6,500

			27,000 x 8
Hostel & mess charges	27,000 x 8 semesters = 2,16,000	27,000 x 8 semesters = 2,16,000	semesters =
(per semester)			2,16,000
Hostel caution money	F 000	F 000	F 000
(one time & refundable)	5,000	5,000	5,000
Total for timelading		1/5th = 2,27,500	2,27,500
Total fee (including hostel & mess charges)	2,43,500	2/5th = 2,35,500	2,27,500
nostei & mess tharges/		2/5th = 2,39,500	2,27,500





Total intake				
	General category	ST/ SC/ BC/EBC/ EWS	Women	Total
Number of students	22 students	1/5th- 2 students		Total intake
		2/5th- 3 students		iiitake
		2/5th- 3 students		
Total	22	8		30

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF COMMERCE & MANAGEMENT

Fee details	Category	
ree uetails	General	ST/ SC/BC/EBC/ EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
	10,000 x 4 semesters = 40,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 5,000 x 4 semesters = 20,000
		* 2/5th = 7,500 x 4 semesters = 30,000
		1/5th = 14,000
otal fee (excluding hostel & mess charges)	54,000	2/5th = 34,000
		2/5th = 44.000

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
	1,67,000	1/5th = 1,27,000
Total fee (including hostel & mess charges)		2/5th = 1,47,000
Citalges		2/5th = 1,57,000

BBA (3 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/ EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 6 semesters = 12,000	2,000 x 6 semesters = 12,000
	10,000 x 6 semesters = 60,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 5,000 x 6 semesters = 30,000
		* 2/5th = 7,500 x 6 semesters = 45,000
	78,000	1/5th = 18,000
Total fee (excluding hostel & mess		2/5th = 48,000
charges)		2/5th = 63,000

Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000
Hostel caution money (one time & refundable)	5,000	5,000
	2,45,000	1/5th = 1,85,000
Total fee (including hostel & mess charges)		2/5th = 2,15,000
charges		2/5th = 2,30,000

Total intake			
	General category	ST/ SC/BC/EBC/ EWS	
Number of students	22 students	1/5th- 2 students	Total intake
Number of students		2/5th- 3 students	
		2/5th- 3 students	
Total	22	8	30







Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF COMMERCE & MANAGEMENT

POSTGRADUATE DIPLOMA IN BUSINESS ADMINISTRATION (1 YEAR SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 2 semesters = 4,000	2,000 x 2 semesters = 4,000
	25,000 x 2 semesters = 50,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 12,500 x 2 semesters = 25,000
		* 2/5th = 18,750 x 2 semesters = 37,500
Total fee (excluding hostel & mess charges)		1/5th = 10,000
	60,000	2/5th = 35,000
		2/5th = 47,500

Hostel & mess charges (per semester)	27,000 x 2 semesters = 54,000	27,000 x 6 semesters = 54,000
Hostel caution money (one time & refundable)	5,000	5,000
	1,19,000	1/5th = 69,000
Total fee (including hostel & mess charges)		2/5th = 94,000
Charges		2/5th = 1,06,500

MBA (2 YEAR SEMESTER PROGRAMME)		
Category		
General	ST/ SC/BC/EBC/EWS	
6,000	6,000	
2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000	
25,000 x 4 semesters = 1,00,000	* 1/5th = 0	
	* 2/5th = 12,500 x 4 semesters = 50,000	
	* 2/5th = 18,750 x 4 semesters = 75,000	
1,14,000	1/5th = 14,000	
	2/5th = 64,000	
	2/5th = 89,000	
	General 6,000 2,000 x 4 semesters = 8,000 25,000 x 4 semesters = 1,00,000	

	Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
	Hostel caution money (one time & refundable)	5,000	5,000
	Total fee (including hostel & mess charges)	2,27,000	1/5th = 1,27,000
			2/5th = 1,77,000
			2/5th = 2,02,000

Total intake			
	General category	ST/ SC/BC/EBC/EWS	
Number of students	22 students	1/5th- 2 students	Total intake
		2/5th- 3 students	
		2/5th- 3 students	
Total	22	8	30





Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF PHARMACY & PARAMEDICAL SCIENCES

B. PHARM (4 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 8 semesters = 16,000	2,000 x 8 semesters = 16,000
Tuition fee (per semester)	55,000 x 8 semesters = 4,40,000	* 1/5th = 0
		* 2/5th = 27,500 x 8 semesters = 2,20,000
		*2/5th = 41,250 x 8 semesters = 3,30,000
	4,62,000	1/5th = 22,000
Total fee (excluding hostel & mess charges)		2/5th = 2,42,000
charges		2/5th = 3,52,000

Hostel & mess charges (per semester)	27,000 x 8 semesters = 2,16,000	27,000 x 8 semesters = 2,16,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)		1/5th = 2,43,000
	6,83,000	2/5th = 4,63,000
		2/5th = 5,73,000

Total intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
		1/5th- 5 students	Tatal intaka
Number of students	75 students	2/5th- 10 students	Total intake
		2/5th- 10 students	
Total	75	25	100

Merit based scholarship tuition fee			
	<u>B. Pharm</u>		
CATECORIES	BOARD		FEE (PER
CATEGORIES	CBSE/ ICSE	BSEB/ OTHER STATE BOARD	SEMESTER)
CATEGORY-I	>=71%	>=61%	40,000/-
CATEGORY-II	70%> = 60%	60%> = 50%	45,000/-

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF PHARMACY & PARAMEDICAL SCIENCES

D. PHARM (2 YEARS ANNUAL PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 2 years = 4,000	2,000 x 2 years = 4,000
	75,000 x 2 years = 1,50,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 37,500 x 2 years = 75,000
		*2/5th = 56,250 x 2 years = 1,12,500
Tabel for Association in a shall 0 was as		1/5th = 10,000
Total fee (excluding hostel & mess charges)	1,60,000	2/5th = 85,000
charges		2/5th = 1,22,500

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
	2,73,000	1/5th = 1,23,000
Total fee (including hostel & mess charges)		2/5th = 1,98,000
Bes/		2/5th = 2,35,500

Total intake			
	General category	ST/ SC/BC/EBC/EWS	
Number of students		1/5th- 3 students	Total
Number of students	45 students	2/5th- 6 students	intake
		2/5th- 6 students	
Total	45	15	60

Metrics of seat reservation	
Categories	Reservation percentile
SC	20%
ST	2%
EBC	25%
ВС	18%
EWS	10%

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF ENGINEERING & TECHNOLOGY

UNDERGRADUATE DIPLOMA IN COMPUTER APPLICATION (2 YEAR SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
	10,000 x 4 semesters = 40,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 5,000 x 4 semesters = 20,000
,		* 2/5th = 7,500 x 4 semesters = 30,000
Total fee (excluding hostel & mess charges)	54,000	1/5th = 14,000
		2/5th = 34,000
		2/5th = 44,000

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)		1/5th = 1,27,000
	1,67,000	2/5th = 1,47,000
		2/5th = 1,57,000

BCA (3 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 6 semesters = 12,000	2,000 x 6 semesters = 12,000
	10,000 x 6 semesters = 60,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 5,000 x 6 semesters = 30,000
		* 2/5th = 7,500 x 6 semesters = 45,000
Total fee (excluding hostel & mess charges)		1/5th = 18,000
	78,000	2/5th = 48,000
		2/5th = 63,000

Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 6 semesters = 1,62,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	2,45,000	1/5th = 1,85,000
		2/5th = 2,15,000
		2/5th = 2,30,000

	Total intake		
	General category	ST/ SC/BC/EBC/EWS	
Number of students		1/5th- 2 students	Total
	22 students	2/5th- 3 students	intake
		2/5th- 3 students	
Total	22	8	30







Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF ENGINEERING & TECHNOLOGY

FOSTGRADUATE DIFE	OMA IN COMPUTER APPLICATION (1	TEAR SEIVIESTER PROGRAIVIIVIE
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 2 semesters = 4,000	2,000 x 2 semesters = 4,000
		* 1/5th = 0
Tuition fee (per semester)	30,000 x 2 semesters = 60,000	* 2/5th = 15,000 x 2 semesters = 30,000
		* 2/5th = 22,500 x 2 semesters = 45,000
	70,000	1/5th = 10,000
Total fee (excluding hostel & mess		2/5th = 40,000
charges)		2/5th = 55,000
Hostel & mess charges (per semester)	27,000 x 2 semesters = 54,000	27,000 x 6 semesters = 54,000
Hostel caution money (one time & refundable)	5,000	5,000
	1,29,000	1/5th = 69,000
Total fee (including hostel & mess		2/5th = 99,000
charges)		2/5th = 1,14,000

MCA (2 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
	30,000 x 4 semesters = 1,20,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 15,000 x 4 semesters = 60,000
		* 2/5th = 22,500 x 4 semesters = 90,000
Total fee (excluding hostel & mess charges)	1,34,000	1/5th = 14,000
		2/5th = 74,000
		2/5th = 1,04,000

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
		1/5th = 1,27,000
Total fee (including hostel & mess charges)	2,47,000	2/5th = 1,87,000
Citalges)		2/5th = 2,17,000

	Total intake		
	General category	ST/ SC/BC/EBC/EWS	
Number of students	22 students	1/5th- 2 students	Total intake
		2/5th- 3 students	
		2/5th- 3 students	
Total	22	8	30

Pro Vice Chancellor KK University Berauti, Nepura, Bihar Sharif Nalanda - 803115 (Bihar)



Vice Chancellor
K.K. UNIVERSITY
Biharsharif, Nalanda
Bihar

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

- * Note-
- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF LAW & LEGAL SCIENCE

B.COM LLB (5 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 10 semesters = 20,000	2,000 x 10 semesters = 20,000
	10,000 x 10 semesters = 1,00,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 5,000 x 10 semesters = 50,000
		* 2/5th = 7,500 x 10 semesters = 75,000
Total fee (excluding hostel & mess charges)		1/5th = 26,000
	1,26,000	2/5th = 76,000
		2/5th = 1,01,,000

Hostel & mess charges (per semester)	27,000 x 10 semesters = 2,70,000	27,000 x 10 semesters = 2,70,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	4,01,000	1/5th = 3,01,000
		2/5th = 3,51,000
		2/5th = 3,76,000

Total intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	90 students	1/5th- 6 students	Total intake
		2/5th- 12 students	
		2/5th- 12 students	
Total	90	30	120

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

* Note

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF LAW & LEGAL SCIENCE

LLB (3 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 6 semesters = 12,000	2,000 x 6 semesters = 12,000
	10,000 x 6 semesters = 60,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 5,000 x 6 semesters = 30,000
		* 2/5th = 7,500 x 6 semesters = 45,000
Total fee (excluding hostel & mess charges)		1/5th = 18,000
	78,000	2/5th = 48,000
		2/5th = 63,000

Hostel & mess charges (per semester)	27,000 x 6 semester = 1,62,000	27,000 x 6 semesters = 1,62,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	2,45,000	1/5th = 1,85,000
		2/5th = 2,15,000
		2/5th = 2,30,000

Total intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	90 students	1/5th- 6 students	Total intake
		2/5th- 12 students	
		2/5th- 12 students	
Total	90	30	120

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF LAW & LEGAL SCIENCE

LLM (2 YEARS SEMESTER PROGRAMME)		
Ess dataile	Category	
Fee details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
	30,000 x 4 semesters = 1,20,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 15,000 x 4 semesters = 60,000
		* 2/5th = 22,500 x 4 semesters = 90,000
	1,34,000	1/5th = 14,000
Total fee (excluding hostel & mess		2/5th = 74,000
charges)		2/5th = 1,04,000
	1	1
ostel & mess charges (per semester)	27,000 x 4 semesters = 1.08,000	27,000 x 4 semesters = 1,08,000

	1,06,000		
Hostel caution money (one time & refundable)	5,000	5,000	
		1/5th = 1,27,000	
Total fee (including hostel & mess	2,47,000	2/5th = 1,87,000	
charges)		2/5th = 2,17,000	
Total intake			

Total intake			
Number of students	General category	ST/ SC/BC/EBC/EWS	
	15 students	1/5th- 1 student	Total intake
		2/5th- 2 students	
		2/5th- 2 students	
Total	15	5	20

Metrics of seat reservation		
Categories Reservation percentile		
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF LIBRARY SCIENCE

BLIS (1 YEAR SEMESTER PROGRAMME)			
Fee details	Category		
ree uetaiis	General	ST/ SC/BC/EBC/EWS	
Admission fee (one time)	4,500	4,500	
Exam fee (per semester)	1,500 x 2 semesters = 3,000	1,500 x 2 semesters = 3,000	
	8600 x 2 semesters = 17,200	* 1/5th = 0	
Tuition fee (per semester)		* 2/5th = 4,300 x 2 semesters = 8,600	
		* 2/5th = 6,450 x 2 semesters = 12,900	
		1/5th = 7,500	
Total fee (excluding hostel & mess charges)	24,700	2/5th = 16,100	
		2/5th = 20,400	

Hostel & mess charges (per semester)	27,000 x 2 semesters = 54,000	27,000 x 2 semesters = 54,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	83,700	1/5th = 66,500
		2/5th = 75,100
		2/5th = 79,400

Total intake			
	General category	ST/ SC/BC/EBC/EWS	
Number of students	90 students	1/5th- 6 students	Total intake
		2/5th- 12 students	
		2/5th- 12 students	
Total	90	30	120

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF LIBRARY SCIENCE

MLIS (1 YEAR SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	4,500	4,500
Exam fee (per semester)	1,500 x 2 semesters = 3,000	1,500 x 2 semesters = 3,000
	14,300 x 2 semesters = 28,600	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 7,150 x 2 semesters = 14,300
		* 2/5th = 10,725 x 2 semesters = 21,450
		1/5th = 7,500
Total fee (excluding hostel & mess charges)	36,100	2/5th = 21,800
		2/5th = 28,950

Hostel & mess charges (per semester)	27,000 x 2 semesters = 54,000	27,000 x 2 semesters = 54,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	95,100	1/5th = 66,500
		2/5th = 80,800
		2/5th = 87,950

Total intake			
	General category	ST/ SC/BC/EBC/EWS	
Number of students		1/5th- 3 students	Total
	45 students	2/5th- 6 students	intake
		2/5th- 6 students	
Total	45	15	60

Metrics of seat reservation		
Categories Reservation percent		
SC	20%	
ST	2%	
EBC	25%	
ВС	18%	
EWS	10%	

* Note-

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.





SCHOOL OF ENGINEERING & TECHNOLOGY

DIPLOMA- REGULAR (3 YEARS SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 6 semesters = 12,000	2,000 x 6 semesters = 12,000
Tuition fee (per semester)	20,000 x 6 semesters = 1,20,000	* 1/5th = 0
		* 2/5th = 10,000 x 6 semesters = 60,000
		*2/5th = 15000 x 6 semesters = 90,000
Total fee (excluding hostel & mess charges)		1/5th = 18,000
	1,38,000	2/5th = 78,000
		2/5th = 1,08,000

Hostel & mess charges (per semester)	27,000 x 6 semesters = 1,62,000	27,000 x 8 semesters = 2,16,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)	3,05,000	1/5th = 1,85,000
		2/5th = 2,45,000
		2/5th = 2,75,000

Total intake			
	General category	ST/ SC/BC/EBC/EWS	
Number of students	495 students	1/5th- 33 students	Total intake
		2/5th- 66 students	
		2/5th- 66 students	
Total	495	165	660

Merit based scholarship tuition fee			
Diploma Regular			
Category	Tuition Fee	BSEB/ Other State Board	CBSE/ ICSE
Scholarship Categroy-1	12500	50%= <	65%= <
Scholarship Categroy-2	15000	40%= < 50%	55%= < 65%
Scholarship Categroy-3	17500	35%= < 40%	50%= < 55%
General Categroy	20000	Below 35%	Below 50%

SEAT METRICS OF DIPLOMA		
BRANCH	INTAKE	
CIVIL	240	
MECHANICAL	240	
ELECTRICAL	180	
TOTAL	660	







Metrics of seat reservation	
Categories	Reservation percentile
SC	20%
ST	2%
EBC	25%
ВС	18%
EWS	10%

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF ENGINEERING & TECHNOLOGY

	Category		
Fee details	General	ST/ SC/BC/EBC/EWS	
Admission fee (one time)	6,000	6,000	
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000	
		* 1/5th = 0	
Tuition fee (per semester)	35,000 x 4 semesters = 1,40,000	* 2/5th = 17,500 x 4 semesters = 70,000	
		*2/5th = 26,250 x 4 semesters = 1,05,000	
		1/5th = 14,000	
Fotal fee (excluding hostel & mess charges)	1,54,000	2/5th = 84,000	
chargesy		2/5th = 1,19,000	
ostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000	
Hostel caution money (one time & refundable)	5,000	5,000	
Tatal foo /:waludiwa baatal 0 waas		1/5th = 1,27,000	
Total fee (including hostel & mess charges)	2,67,000	2/5th = 1,97,000	
Ga. 800/		2/5th = 2,32,000	
В.7	TECH- REGULAR (4 YEARS SEMESTER PI	ROGRAMME)	
	FECH- REGULAR (4 YEARS SEMESTER PI	ROGRAMME) Category	
B.T	FECH- REGULAR (4 YEARS SEMESTER PI		
		Category	
Fee details	General	Category ST/ SC/BC/EBC/EWS	
Fee details Admission fee (one time)	General 6,000	ST/ SC/BC/EBC/EWS 6,000	
Fee details Admission fee (one time)	General 6,000	ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000	
Fee details Admission fee (one time) Exam fee (per semester)	General 6,000 2,000 x 8 semesters = 16,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester)	General 6,000 2,000 x 8 semesters = 16,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester) Total fee (excluding hostel & mess	General 6,000 2,000 x 8 semesters = 16,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester)	General 6,000 2,000 x 8 semesters = 16,000 35,000 x 8 semesters = 2,80,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000 1/5th = 22,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester) Total fee (excluding hostel & mess	General 6,000 2,000 x 8 semesters = 16,000 35,000 x 8 semesters = 2,80,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000 1/5th = 22,000 2/5th = 1,62,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester) Total fee (excluding hostel & mess charges)	General 6,000 2,000 x 8 semesters = 16,000 35,000 x 8 semesters = 2,80,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000 1/5th = 22,000 2/5th = 1,62,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester) Total fee (excluding hostel & mess charges) ostel & mess charges (per semester)	General 6,000 2,000 x 8 semesters = 16,000 35,000 x 8 semesters = 2,80,000 3,02,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000 1/5th = 22,000 2/5th = 1,62,000 2/5th = 2,32,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester) Total fee (excluding hostel & mess charges) ostel & mess charges (per semester) Hostel caution money (one time & refundable)	General 6,000 2,000 x 8 semesters = 16,000 35,000 x 8 semesters = 2,80,000 3,02,000 27,000 x 8 semesters = 2,16,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000 1/5th = 22,000 2/5th = 1,62,000 2/5th = 2,32,000 27,000 x 8 semesters = 2,16,000	
Fee details Admission fee (one time) Exam fee (per semester) Tuition fee (per semester) Total fee (excluding hostel & mess charges) Hostel & mess charges (per semester) Hostel caution money (one time &	General 6,000 2,000 x 8 semesters = 16,000 35,000 x 8 semesters = 2,80,000 3,02,000 27,000 x 8 semesters = 2,16,000	Category ST/ SC/BC/EBC/EWS 6,000 2,000 x 8 semesters = 16,000 * 1/5th = 0 * 2/5th = 17,500 x 8 semesters = 1,40,000 *2/5th = 26250 x 8semesters = 2,10,000 1/5th = 22,000 2/5th = 1,62,000 2/5th = 2,32,000 27,000 x 8 semesters = 2,16,000 5,000	

Total intake			
	General category	ST/ SC/ Women/ EWS	
Number of students	158 (students)	1/5th- 10 students	Total intake
		2/5th- 21 students	
		2/5th- 21 students	
Total	158	52	210







Merit based scholarship tuition fee			
B.Tech Regular			
Category	Tuition Fee	BSEB/ Other State Board	CBSE/ ICSE
Scholarship Categroy-1	25000	60%= <	70%= <
Scholarship Categroy-2	30000	55%= < 60%	60%= < 70%
General Categroy	35000	45%= < 55%	50%= < 60%

SEAT METRICS OF B.TECH	
BRANCH	INTAKE
CIVIL	60
MECHANICAL	60
ELECTRICAL	30
COMPUTER SCIENCE & ENGINEERING	60
TOTAL	210

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







SCHOOL OF ENGINEERING & TECHNOLOGY

POSTGRADUATE DIPLOMA IN ENGINEERING (1 YEAR SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 2 semesters = 4,000	2,000 x 2 semesters = 4,000
	25,000 x 2 semesters = 50,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 12,500 x 2 semesters = 25,000
		* 2/5th = 18,750 x 2 semesters = 37,500
		1/5th = 10,000
Total fee (excluding hostel & mess charges)	60,000	2/5th = 35,000
		2/5th = 47,500

Hostel & mess charges (per semester)	27,000 x 2 semesters = 54,000	27,000 x 6 semesters = 54,000
Hostel caution money (one time & refundable)	5,000	5,000
		1/5th = 69,000
Total fee (including hostel & mess charges) 1,19,000	1,19,000	2/5th = 94,000
Charges		2/5th = 1,06,500

M.TECH (2 YEAR SEMESTER PROGRAMME)		
Fee details	Category	
ree details	General	ST/ SC/BC/EBC/EWS
Admission fee (one time)	6,000	6,000
Exam fee (per semester)	2,000 x 4 semesters = 8,000	2,000 x 4 semesters = 8,000
	25,000 x 4 semesters = 1,00,000	* 1/5th = 0
Tuition fee (per semester)		* 2/5th = 12,500 x 4 semesters = 50,000
		* 2/5th = 18,750 x 4 semesters = 75,000
Total fee (excluding hostel & mess charges)	1,14,000	1/5th = 14,000
		2/5th = 64,000
		2/5th = 89,000

Hostel & mess charges (per semester)	27,000 x 4 semesters = 1,08,000	27,000 x 4 semesters = 1,08,000
Hostel caution money (one time & refundable)	5,000	5,000
Total fee (including hostel & mess charges)		1/5th = 1,27,000
	2,27,000	2/5th = 1,77,000
		2/5th = 2,02,000

Total intake			
	General category	ST/ SC/ Women/ EWS	
Number of students	32 students	1/5th- 2 students	Total intake
		2/5th- 4 students	
		2/5th- 4 students	
Total	32	10	42





SEAT METRICS OF M.TECH	
BRANCH	INTAKE
STRUCTURE	12
TRANSPORT	12
MANUFACTURING	6
POWER SYSTEM	6
COMPUTER SCIENCE & ENGINEERING	6
TOTAL	42

Metrics of seat reservation		
Categories	Reservation percentile	
SC	20%	
ST	2%	
EBC	25%	
BC	18%	
EWS	10%	

- 1. Admission to different programmes is based on University entrance test.
- 2. 85% attendance is mandatory to be eligible for Scholarship.
- 3. Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 is annexed as Annexure 1.
- 4. One-third (1/3) Seats are reserved for female as per the Bihar reservation policy.







K. K. UNIVERSITY

Guidelines for Merit Cum Means Scholarship for Academic Year 2025-26 Scheme Details:

Objective: The objective of the Scheme is to provide financial assistance to the poor and meritorious students from SC/ST/BC/EBC/EWS and female candidates, domicile of Bihar to enable them to pursue higher education.

Scope: The scholarship is to be awarded to pursue courses in K K University, selected and notified in a transparent manner by the K K University Administration concerned. It will cover Technical, Professional and General courses at Diploma, Undergraduate and Post Graduate level.

Eligibility: Scholarship will be awarded to 25% of the students who belong to SC/ST/BC/EBC/EWS/Women and domicile of Bihar ranking basis the cumulative score on the following criteria:

Criteria-1: Previous Academic Performance

S. No	Marks Percentage in Qualifying	Marks to be Allotted
	Exam	
1.	90% and above	50 Marks
2.	80-89.9 %	40 Marks
3.	70-79.9%	30 Marks
4.	60-69.9%	20 Marks
5.	50-59.9%	10 Marks
6.	Below 50%	05 Marks

Criteria- 2: Economical Background of the Candidate (Income Certificate is Mandatory)

S. No.	Family Annual Income	Marks to be Allotted
1.	Below 1 Lakh	25 Marks
2.	1 Lakh to 2 Lakhs	15 Marks
3.	Above 2 Lakhs	10 Marks

Criteria- 3: University Entrance Test: 20 Marks

Criteria- 4: Performance in Extra Curricular Activity: 05 Marks

➤ The student must enclose the certificate of Extra Curricular activity like Sports, Participation in Cultural or Social Events. No marks will be provided to students who fail to produce any certificate in this regard.

Note: 85% attendance is mandatory throughout the Program for students under this scholarship scheme.





